8922H 01

HP 8922H GSM M5 Test Set

0000A00000 / 9999799999

Y2K updat e information.

Product requires installation of 8922H to M upgrade kit 8922U #101
which will upgrade to 8922M functionality and have | atest firmare,
to be Y2K conpliant to HP standards. (see situation)

8922M firmnvare bel ow B.07.07 is not Y2K conpliant to HP standards.
Duplicate Service Notes:

8922HR- 01

To Be Perforned By:

HP- Qual i fi ed Personne

Parts Required:

HP P/ N Descri ption Quantity
8922U #101 8922H to M upgr ade 1
Si tuation:

Y2K investigation has identified that the response fromthe BASIC
function Tl MEDATE is defective. This defect exists now and a

TI MEDATE call would fail nowif called in any BASIC application.
Detection of this bug has caused all 8922 instrunments bel ow
firmvare B.07.07 (or C 01.03 for 8922P,R X Y) to be classified as
Y2K non-conpliant. This bug has not been reported by custoners
which inplies that it has not used in any applications to date.

Failure to install the Y2K upgrade will not cause the HP8922H to
return an incorrect date/tinme stanp on 1lst January 2000.

Solution / Action:

8922U #101 needs be installed to turn the 8922H into a 8922Mw th
firmvare above B.07.06 and neet HP Y2K conpliance standards. This
fixes the TI MEDATE bug but does not affect any other date-rel ated
processes within the instrument.

The 8922H will return the correct date/tinme stanp on 1lst January 2000,
wi hout nodification. It is recomended that no upgrade is required.

Date: 24 August 1998
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* *
* MCDI FI CATI ON AVAI LABLE *
X e e e e e e e e e e e e e e .- *
* *
* REASON: PERFORMANCE ENHANCEMENT _ X *
* -or- SERVI CE/ RELI ABI LI TY ENHANCEMENT _ *
* ACTI ON CATEGORY: AGREEABLE TI VE *
* LOCATI ON CATEGCRY: CUSTOVER | NSTALLABLE _ ON-SITE __ *
* HP LOCATI ON _X *
* AVAI LABLE UNTIL: _END OF SUPPORT LI FE *
* AUTHOR/ ENTI TY: _AS/ E600 *
* ADDI TI ONAL | NFO *
* *
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